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1. Which of the following is the apex body in the area of Teacher-

Education?
(A) UGC (B) MHRD
(C) NCTE (D) NCERT
fre 1 Q B 1 sreaT—¥Ten & & 9 T e ¥
() UGC (@) MHRD
() NCTE (=) NCERT

2. First open university in India was established in the year----------- .

(A) 1961 (B) 1982
(C) 1985 (D) 2001
R § Wor e Treafenerd Y AT A e H g
(=) 1961 (@) 1982
(1) 1985 (1) 2001

3. According to 2011 census report the difference of Literacy rate of

men and Women in India is about---~--—-- .
(A) 10% (B) 17%

(C) 21% (D) 27%
a8 2011 @ WO RO @ SR ARe g @) R AR Ao

(@®)10% (@) 17%
(1) 21% () 27%

4. The number of States and union territories in India are respectively.

(A) 297 (B) 29,8
(C) 28,9 (D) 28,7
e Tl @Y e U e v Wodl Y W e i
(w) 29,7 () 29,8
(71) 28,9 (=) 28,7



5. Which of the following represents the minimum age required to
become the member of Rajya Sabha?
(A) 25years (B) 30 years

(C) 35 years (D) There is no age limit as such

ﬁmﬁﬁgﬁﬁaﬁﬂmmwﬁwaﬂ%iﬁmwwmm
wferfiRrea @ §7

(@) 25 years (@) 30 years
(M) 35 years () S9! B 31y ey =14t &
6.  ‘'mesopotamia’ is the former name of ————-wcammemee \
(A) Tanzania (B)Iran
(C) Irag (D) Zambia
BRI BT A
(®) aontra (@) T
(1) (=) i
7. As per the constitution of India, the fundamental rights arg-—---mee---
in number.
(A) 5§ (B)6 (C)7 (D)8
IR & e & SFOR s sioR wem & ... &l
(%) 5 (@) 6 (M 7 (=) 8

8. This country is Known as ‘sugar bowl of world’ Identify it from the

given option.
(A) Brazil (B) Cuba
(C) Mexico (D) Algeria

T 29 T B A Fer @ e I wwen ¥ R e ey @ sae g
i

(®) amia (=) Fgan
(31) AT (%) SreroniRa



9. Gir Nationjal Park is Situated in-----------------

(A) Bihar (B) Allahabad (C) West Bangal (D) Gujrat

(?) fER (w) sarEr (1) afR<m I (9) o

10. The gas is used to extinguish fire is---------------
(A) Bihar (B) Allahabad (C) West Bangal (D) Gujrat

3 A B forg i 31 S R S R
(®) A A SRS (@) feita
(1) ATSEIST (%) BT T3 HTRAES
11. 1 HP is equcal to wait.

(A) 526 (B)556  (C)726 (D)746

(w) 526 (W@)556 (A1) 726 (e1) 746

12. on which river is Bhakhra Nangal dam located?

(A) Sutlej (B) Ravi (C) Chenab (D) Beas

W] SiTa 97y fpa 1) 1= Rera 87
(@) aerst () @Al (1) =T (6) @

13. Which of the following state in India has the least percentage people
below poverty line.

(A) Tamilnadu (B) Maharashtra (C) Punjab (D) Goa

I YRa @ fra woa 1 W o9 gRrerd U o TR Y |4 Y B B
(F) TG (W) TR, (71) IS4 () W31

14.. Which of the following cities is located on the banks of river Saryu?

Y



(A} Varanasi (B) Ayodhya (C) Knapur (D) Allahabad

771 9 @ B 1 wre) g T B R e gen ¥
(%) AR (W) 3N (1) BEYR (9) Semare

15. Which part of the plant enables the transport of water and minerals
(A) Stem (B) Roots (C) Xylem (D) Petiole

qﬁﬁaﬂaﬁﬂwmuﬁisﬁv@ﬁaﬁqﬁaﬁaﬁﬂmm%?
(B) = (W) &S (1) g (6) S

16. Which of the following is a planned city in terms of architecture?

(A)  New Delhi (B) Mumbai (C) Bengaluru (D) chandigadh

71 5 B 1 TTeR aregEen B gfie W FraRE TR g 2
(%) 7= Rl (@) g€ () g% () wvdirg

17. The famous Ajanta caver are Located —-----e--—

(A) In. Maharashtra (B) In. Bihar
(C) In. Madhya Pradesh (D) In. Gujrat

(®) wervre 4 (@) fer ¥ (1) 9eu waer § (9) ToRE |

18. The Book written by Megasthenes is

(A) Deepwansh (B) Karpoomanjari
(B) (C) Geography (D) India

(@) <rgEe (@) IHESN (1) ST (9) e
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19. Who among the following served as the first Home minister in
independent India?

(A) K. Kamraj (B) Rajgopalachari

(C) Morajee Desia (D) Sardar Ballabh Bhai

=1 W o 9 @i« e IR $ UM e © WU H B fha?

(%) B0 BT (@) TS
(1) FRIEST TS

(%1) WRER Yod¥ WIS o

20. Who attempted to assassinate Kingsford in Muzaffarpur?

(A) Khudiram Bose- Prafulla Chaki
(B) Khudiram Bose- Narendra Gosai
(C) Khudiram Bose- Barindra Singh

(D) Khudiram Bose- Bhupendra Dutta.
(E)

forae goumeyR | eI @) 71 & ua fha en?
() QIR € — Tee b

(@) GERM 99 — A= NS

(1) GERM 99 — a9 Rig

(¥1) QR a1~ 0 3

21. For how many years are members of Rajya Sabha
elected/nominated?

(A) 5 years (B) 4 years (C) 6 years (D) 2.5 years

5 |91 & el T ani @ fag Faifaa/sifa 3 g ?
() sad(@)4ad (Mead (T) 2599

22. What is the quorum for the total number of members of Lok Sabha?
(A) 1/3(B)1/5(C)1/11 (D) 1/10



<l T 1 PRA Fol Wl FEAT BI e g &7
(®) Y3 @) 1fs (@111 (=) 110

23. Which is the largest union territiory by area?
(A) Andaman-Nikobar (B) Delhi
(C) Chandigadh (D) jammu-Kashmir.

&3l B e W W 797 B R w1 B 1 E?
() svsam-fFeEr (@) e (1) 9vdime (1) SR

24. ‘The Indain National Army’ was founded by----—-=e---

(A) Bhagat Singh (B) Subhash Chandra Bose
(C) Khudiram Bose (D) Lala Lajpat Roy

"SfosTm e oMl &Y v frad g ) TE o7
(%) wra RiE (@) Qe o= @ (1) GERM 9 () ofTell AToTae W

25. When was the India-Pakistan war fought before 1971
(A) 1982 (B) 1963 (C) 1964 (D) 1965

1971 ¥ Y8l ARG S8 B ST T AT?

(®) 1962 (W) 1963 (1) 1964 () 1965

26. Whose currency is'Euro’?

(A) UK (B) Sweden (C) Euro-Zone (D) Denmark

(®) 40w (W) e (1) Wi §iF () Swares

7



27. What is the age of retirement of a supreme court judge?

(A) 62years (B)68 years (C)65years (D)60 years

Feeed AT B AR 6 Aaigh oIy w77
(@) 62 a¥ (&) 68 79 (1) 65 T¥ (®1) 60 ¥

28. Who is considered to be the executive head in Indai?
(A) Prime Minister (B) President

(C) Chief justice of supreme court (D) Governor.

HRa & HEEN W@ {5 w1 S 27

() wer = w3 © () et
(1) S AT @ S SIEeT (°) Isaurd

29. The fitst woman chief minister of an Indian state ig----==-==--

(A) Sarojini Naidu (B) Indara Gandhi
(C) Sucheta Kriplani (D) Rajkumari Amrita Kaur
YRANT TS B YA Afge JEHAl B

(%) TR A1, () SR wien

() g AT (V1) TSTEATY ST IR

30. The term ‘B'utterﬂy’ is associated with
(A) kabaddi (B) Swimming
(C) Boxing (D) Wresthing



31. Mild symptoms of Novel coronavirus patient are-

(A) Fever (B) Cough
(C) Shortness of breath (D) All the above
el BRI 0 B W/ e wa ¥ —

(¥) gaR (@) @i

(1) W oA ¥ B (¥1) SR adY

32. When was the first ‘janta curfew’ imposed in the entire country in
Indian history so far?

(A) 22 March 2020 (B) 23 March 2020
(C) 21 March 2020 (D) 23 April 2020

mw%ﬁaﬁmﬁﬁm‘mmﬂ'@a‘wﬁmmm?

(®) 22 9rd 2020 (@) 23 A1 2020
(1) 2191 2020 (&) 23 3% 2020

33. Sound waves cannot transmit--—---mec——-

(A) in Hydrogen (B) in Vacuum
(C) inlron (D} in water
G+ TR TE T AFS Eon
() TEIIoH | (@) fafa |
(M) <dreH (=) ote1 ¥
34, The statg---—-—--m-m-- is the largest producer of ‘Wheat' in India.
(A) Pundab (B) Haryana
(C) Uttar Pradesh (D) Bihar



(%) doi (@) sRamn
() SR QT (=) feeR

35. When the secondary Education commission constituted?

(A) 1951 (B) 1952

(C) 1986 (D) 1992

Heatie fRen SR Fa T o an?
(®) 1951 (@) 1952
(1) 1986 (1) 1992

36. Find the Mean value of :-

2,3,3,4,6,7,3.
(A) 4.15 (B) 4.25
(C) 4.0 (D) 4.20
|1 A Sild Y —

2,3,3,4,6,7,3
(®) 4.5 (@) 4.25

(M 4.0 (=1) 4.20

37. Find the interest of 2 yeérs at the rate of 10% yearly interest of Rs.
1000

(A)  Rs.200 (B) Rs. 2000
(C) Rs. 400 (D) None of these
1000 ST T 10% aifies =Tl &) X A 2 T BT AT = BRI
(®) 200 T (@) 2000 TR
() 400 ¥ (=) ST B TR
38. 38V64.V36 + 8 =7
The value ig------------



(A) 4 (B) 5
(C) 6 (D) 8
38V64.v/36 +~ § =7

FIB] A ...

(%) 4 (@) 5

(1) 6 (=) 8

39.1fx =2, and y= 3

Then find the value of xy2— xy?2

(A) 4 (B) 5
) 7 (D) 6
afe Xx=2 3iRy= 3 7@
1 Xy?— xy? &1 A 7 B
(@) 4 (@) 5
(M 7 (&) 6
40.Find LCM of 5, 10 and 15
(A) 10 (B) 20
(C)y 30 (D) 50
5, 10 3R 15 B LCM 39 Te—
(&) 10 (@) 20
(1) 30 (%) 50
41. Find the Perimeter of a rectangle, if their Length is 5cm and width is
2cm
(A) 30cm (B) 20cm
(C) 7cm (D) 14cm

//



T I @) IR g @ afe 3990 FEE 5 cm Td 9STE 2 om El

(&) 30cm (@) 20 cm
(M 7cm (¥) 14 cm
42, |If, i = 4 and % =7, then find the value of x+y
(A) 11 (B) 28
11
©y — o)y 3

Hﬁlf,%zzlsﬁ? %=7%?ﬁx+ym1=rr=|'§rra'cﬁ%|
(F) 1 (@) 28

@ = OF

43, |f three angles of a quadrilateral are 100°, 60° and 80° respectively,
then what will be the fourth?

(A) 100° (B) 120°
(C) 130° (D) None of these.
If2 il = gye & T B0 HAET: 100°, 60° TG 80° W1 AT PO HAT EF0?
(®) 100° (") 120°
(1) 1309 (5) T4 31§ R
44, Find the missing Letters/words from the options given below.

ZUA, XOC, VIE, TEG,-----?

(A) RAJ (B) RAJ
(C) SAG (D) RAG
&3 v fapedl # @ o SteR/ITE T BN
ZUA, XOC, VIE, TEG,----- ?

(&) RAJ (@) RAJ

Ng



@) SAG (%) RAG

45. Find the number of series on the blank in the following question.

2,5, 9, e ?, 20, 27
(A) 14 (B) .16
(C) .18 (D) 24

1 wem 3 R o w sj@en o s o 59

2,5,9, e ?,20,27
(®) 14 (@) 16
() 18 (a) 24

46. Rearrange the disordered words to make a meaningful word and
then find out which of these word is different from the rest.

(A) MSRA (B) JUIPTER
(C) VEUSN (D) PEATL

TE WRIG ¥Te 9 % fo1g sregaRera w1l 1 g9 : =raRerd o ok by wan
TG 6 571 @ B 1 v, 99 9 R §?

(&) MSRA (@) JUIPTER
(M VEUSN (T) PEATL

47.lf, PLATE is written as CYNGR, then. SHOCK will be written ag------
(A) HSLXP (B) FUBPX
(C) HUYPX (D) FSBXP

I PLATE & CYNGR fom 1 |, 96 SHOCK 31 foren WQ.....cLLL
(%) HSLXP (@) FUBPX

(@) HUYPX (71) FSBXP

/3



48. Manu first walks in the south direction. Then he turns to the west and
finally turns to the right. Now in which direction is he going?

(A) North (B) East
(C) West (D) South

¥ Uget Sféror fren # weren & TR ul¥=m o) SR s el § 91 3 | giiee
AR S W1 Bl 319 g8 b foem 4 o <1 27

(@) S (E) e
(M ufegw (1) =féror

49. Choose one which is different from the group-
(A) 36 (B) 12
(C) 59 (D) 24

T wE 9 o = 9, 91 g
(&) 36 (@) 12
(M 59 (9) 24

50. It was a Wednesday on 1%t July 2000, then what day would it fall on
the 15t of August of this year.

(A) Friday (B) Wednesday
(C) Saturday (D) Sunday

YEell SJeiTs 200 0 B gHAR Y& B A1 301 99 @I ugll RS B DI 1 {4
TS?

(%) gpar (&) g9aRr
() wifEr (9) IfIar



52

53

54

Arvind

ﬁmﬁ@aﬁﬁmmmmmu@mwwm% ?
(A) Laser Printer (B) Ink Jet Printer
(C) Plotter (D) Dot Matrix Printer

Which of the following produces the best quality graphics
reproduction?

(A) Laser Printer (B) Ink Jet Printer

(C) Plotter (D) Dot Matrix Printer
80286 HISHIURITY ATl BHYLY ..o ?

(A) XT computer (B) AT computers

(C) PS/2 computer (D) None of the above

Computers with 80286 microprocessor is —————e--
(A) XT computer (B) AT computers
(C) PS/2 computer (D) None of the above

STIiHE ROl & 1T wyea Application ......... ?

(A) Processing of grades (B) Payroll processing
(C) Both A and B (D) All of the above

An appiication suitable for sequential processing is -----—

(A) Processing of grades (B) Payroll processing
(C) Both A and B (D) All of the above
Frfafes % @ o9 @1 Wi a8 ¥ ?

(A) arranging (B) manipulation

(C) calculating (D) gathering

Computer Science — Set B
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Arvind

Which of the following is not processing?

(A) arranging (B) manipulation

(C) calculating (D) gathering

fefoTeer HrgeEs B T8 T Ao 3 forRra e e ?
(A) USSR (B) Japan (C) USA (D) UK

The digital computer was developed primarily in--------
(A) USSR (B) Japan (C) USA (D) UK

Gaiae R 3 Lo SO

(A) Enhances the capabilities of the hardware machine
(B) Increases the speed of central processing unit

(C) Both of above

(D) None of the above

Software in Computer-----=-~--

(A) Enhances the capabilities of the hardware machine
(B) Increases the speed of central processing unit

(C) Both of above

(D) None of the above

T PR T e f wE ST 7
(A) Truck Directory (B) C Directory
(C) Root Directory (D) LAN Directory

Computer Science — Set B
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60

Arvind

The main Directory is otherwise called the-------—- ?
(A) Truck Directory (B) C Directory
(C) Root Directory (D) LAN Directory

mmﬁ?mwﬁﬁﬁﬁmﬁﬁéwuﬁaw,mm
aﬁﬁﬁem%wwmmw;wwmwﬁﬁﬁﬁem%?

(A) Track number (B) Sector number
(C) Surface number (D) All of the above

Before a disk drive can access any sector record, a computer
program has to provide the record's disk address. What
information does this address specify?

(A) Track number (B) Sector number
(C) Surface number (D) All of the above

i 8 | ST B SeRe B B WA Y ?
(A) Sorting (B) Classifying
(C) Reproducing (D) Summarizing

The arranging of the data in a logical sequence js called?
(A) Sorting (B) Classifying
(C) Reproducing (D) Summarizing

FREY B CPU H Tifdd 518 &) oo Rrer § ?
(A) To produce result

(B) To compare number

(C) To control flow of information

(D) To do maths works

Computer Science — Set B
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Arvind

What is the responsibility of the logical unit in the CPU of a

computer?
(A) To produce result

(B) To compare number

(C) To control flow of information

(D) To do maths works

(A) electronic computer

(C) electronic calculator

Abacus was the first--—~-----=u--

(A) electronic computer

(C) electronic calculator

RAM &1 312l & ?
(A) Random Origin money
(C) Read Only Memory

RAM stands for
(A) Random origin money

(C) Read-only memory

(B) mechanical computer

(D) mechanical calculator

(B) mechanical computer

(D) mechanical calculator

(B) Random Only Memory

(D) Random Access Memory

(B) Random only memory

(D) Random access memory

e oir Wit w @ ufiff.. P ER fFar e e ?

(A) Character code
(C) Binary word

Computer Science — Set B

(B) Binary codes
(D) Parity bit
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b5

66

Arvind

Instructions and memory address are represented by----—--—-
(A) Character code (B) Binary codes
(C) Binary word (D) Parity bit

Eﬁqa%mmﬁ%wvﬁm,meﬁhasﬁwﬁﬁm%ﬁﬁmﬁ

PR EAE
(A) Data collection terminal (B) OCR register terminal
(C) Video Display terminal (D) POS terminal

The terminal device that functions as a cash register, computer

terminal, and OCR reader is the:

(A) Data collection terminal (B) OCR register terminal
(C) Video Display terminal (D) POS terminal

T A1 i freld welld ol T Ae............. 6T G E P

(A) Counter (B) Adder

(C) Register (D) None of the above

A set of flip flops integrated together is called-—-

(A) Counter (B) Adder

(C) Register (D) None of the above
T HE......ovn B HFYEN YUITell B AR B w4 § B ¥ ?
(A) Control Unit (B) Arithmetic Logic Unit

(C) Central Processing Unit (D) Central Processing Unit

People often call as the brain of computer system
(A) Control Unit (B) Arithmetic Logic Unit
(C) Central Processing Unit (D) Central Processing Unit

Computer Science —Set B

/9



67

68

69

Arvind

farsq g99 & foTe foraee S9amT e e 8 7

(A) Bus (B) Control Unit
(C) Semiconductors (D) A & B only

Which is used for manufacturing chips?

(A) Bus (B) Control Unit

(C) Semiconductors (D) A& B only

SR IR ?

(A) Graphical User Interface (B) Greater User Interface
(C) Graphical Utility Icon (D) Graphical Utility Interface

GUI stands for

(A) Graphical User Interface (B) Greater User Interface

(C) Graphical Utility lcon (D) Graphical Utility Interface
TEA FRYST AT . ?
(A) ENIAC (B) UNIVAC  (C) IBM 1402 (D) None of them

The first computer was ---
(A) ENIAC (B) UNIVAC  (C)IBM 1402 (D) None of them

it fees o1 v ForwforRaa A < v v & foser s 72
(A) Machine language (B) Assembly language
(C) High level language (D) None of the above

Computer Science —Set B
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73

Arvind

Mnemonic trick is used in which of the following language?

(A) Machine language (B) Assembly language
(C) High level language (D) None of the above
C++ ¥ B 91 94 MSeYe FHIS ¥ ?

(A) cin (B) cout (C) tuple (D) select

Which one is a valid output command in C++?
(A) cin (B) cout (C) tuple (D) select

Ctri+H

(A} Open Find and Replace dialog box with activating replace Tab

(B) Open format dialog box activating Insert Hyper Link tab
(C) Open insert dialog box activating insert hyper link tab
(D) open insert hyper link dialog box

Ctrl+H

(A) Open Find and Replace dialog box with activating replace Tab

(B} Open format dialog box activating Insert Hyper Link tab
(C) Open insert dialog box activating insert hyper link tab
(D) open insert hyper link dialog box

AT o forg o o 9 b Se1 <wivern @1 soan R s ?
(A) stack (B) queue (C) linked list (D_) tree

Which of the following data structure is used for binary search?
(A) stack (B) queue (C) linked list (D) tree

Computer Science — Set B
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76

Arvind

GEIHH &1 3R & ?
(A) summarization (B) elimination
(C) hiding (D) sharing

Interitance means?

(A) summarization (B) elimination

(C) hiding (D) sharing

MS Office H STET AT T T ,vvvereeeeees] SRR 2§ foRTH ST uwel!
qR g foman T el

(A) Source (B) Destination (C) Original (D) Primary

When sharing data in MS Office, the document is the
document in which the data was first entered.

(A) Source (B) Destination (C) Original (D) Primary

STI¥ER Over AT TH TE Bl.eececrrrnrrerinens Bl
(A) Procedure programming

(B) Polymorphism

(C) Non procedural programming

(D) Object oriented programme

Operator over loading is a kind of--=-r-—----
(A) Procedure programming

(B) Polymorphism

(C) Non procedural programming

(D) Object oriented programme

Computer Science —5et B
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79

Arvind

IGE 3R AT Feveeeeeeeen,
(A} Page Orientation (B) Paper Size
(C) Page Layout (D) All of the above

Portrait and landscape are ------- |

(A) Page Orientation (B) Paper Size

(C) Page Layout (D) All of the above
TEAAMAFA D U fp e s wad snaRems, . 03
Rerar B¢ 1 fie qaiaeie ¥ svamst TaRia &t |

(A) Normal (B) Print layout

(C) Page layout (D) Page edit

To verify that the note text is positioned correctly on the page,
switch to view or display the document in print preview.

(A) Normai (B) Print layout
(C) Page layout (D) Page edit

TWE ?

(A) Design of Data (B) Creator of data
(C) Instances of data (D) storage of data

Variables are?
(A) Design of Data (B} Creator of data

(C) Instances of data (D) storage of data

Computer Science —Set B
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Dl

3%

Arvind

B A1 glagn siue! TS &t | o1 fomn 5 wasuo & 91 & wg
#affim s A wee FRI R ?

(A) Paste special (B) Format Painter
(C) Page Setup (D) Styles

Which feature helps you to insert the contents of the clipboard as
text without any formatting?

(A) Paste special (B) Format Painter
(C) Page Setup (D) Styles

1S & Bl case a5 @ forg FrrfeRaa 3 51 o= w1 fawed =i & 7

(A) Indent case (B) Sentence case

(C) Toggle case (D) Lower case

Which of the following is not option for changing the case of the
text?

(A) Indent case (B) Sentence case

(C) Toggle case (D) Lower case

S Tearast W e aof afsfom B8 T 7. HR I ® P
(A) Removable character (B) Non printing character
(C) Printing Character (D) Hidden character

The special characters inserted into your document is called ----
(A) Removable character (B) Non printing character

(C) Printing Character (D) Hidden character

Computer Science —Set B
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86

Arvind

gfer qroriitra A vAiRiger @ a9 & sqaR A+B e Y ?
(A) B.A (B)AB  (C)A++B (D) B+A

In Boolean algebra as per association rule A+B is equal to?
(A) B.A (BYAB (C) A++B (D) B+A

=1 gerar srgua fiel o Rptee wu & velfa g1 ¥ ?
(A) Standard toolbar (B) Formatting toolbar
(C) Drawing toolbar (D) All of the above

The following toolbars are displayed in the word application
window by default?

(A) Standard toolbar (B) Formatting toolbar
(C) Drawing toolbar (D) All of the above
I8 AT e B W R ?

(A)IS (B)ELSE (C)IF (D) OR

Which one is a valid logic gate?
(A) 1S (B) ELSE (C)IF (D) OR

e Sffsiae growR 9 Rera § ?

(A) In the lower left corner of the word screen
(B) Below the vertical scroll bar

(C) On the menu bar

(D) On the formatting toolbars

Computer Science — Set B
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83

39

Arvind

The select object browser button is located?
(A) In the lower left corner of the word screen
(B) Below the vertical scroll bar

(C) On the menu bar

(D) On the formatting toolbars

gfer Sromivr # X WA g Frefeafaa @ifdes ot « | fraa
gfaffera S sren T 2

(A) OR (B) NOT  (C)NOR (D) AND

Which of the following logical operations is represented by the X
sign in Boolean algebra?

(A) OR (B) NOT  (C)NOR (D) AND

sitel ure ufafesf ?

(A) Can be deleted (B) Can be edited
(C) Are saved with the normal template (D) All of the above

Auto text entries?

(A) Can be deleted (B) Can be edited

(C) Are saved with the normal template (D) All of the above

3ife qut gfaen ?

(A) Presents tip box with contents you can insert by pressing the
enter key

(B) Checks the style of the documents
(C) Checks the readability of the document
(D) Checks the spelling in the document

Computer Science —Set B
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Arvind

The auto complete feature?

(A) Presents tip box with contents you can insert by pressing the
enter key

(B) Checks the style of the documents
{C) Checks the readability of the document
(D) Checks the speliing in the document

e &e 3R Ie Riwey ?

The smart Cut and Paste option?

(A) Inserts a special symbol at the end of each document
(B) Copies text in document without using clipboard

(C) Adds or deletes space as needed when pasting text
(D) All of above

The smart Cut and Paste option?

(A) Inserts a special symbol at the end of each document
(B) Copies text in document without using clipboard

(C) Adds or deletes space as needed when pasting text
(D) All of above

319 33 Yele 61 SYGRT o) qaa § ?

(A) Format cells containing numbers

(B) Create énd edit formulas containing functions
(C) Enter assumptions data

(D) Copy a range of cells
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You can use the formula palette to?

(A) Format cells containing numbers

(B) Create and edit formulas containing functions
(C) Enter assumptions data

(D) Copy a range of cells

319 HiS[ET TRl FFIENE ST Bllrecernnenes P YT FND Th HTML SKITIHA
¥ = § g9 FF B

(A) FTP wizard .(B) Internet assistant wizard

(C) Intranet wizard (D) Import wizard

You can convert existing excel worksheet data in charts to an
HTML document by using

(A) FTP wizard (B) Internet assistant wizard
(C) Intranet wizard (D) Import wizard
Teh AR A &7

(A) Geometric modelling tool
(B) A cell that points to a drawing object
(C) A formula that either directly or indirectly depends on itself

(D) Always erroneous

A circular reference is?

(A) Geometric modelling tool

(B) A cell that points to a drawing object

(C) A formula that either directly or indirectly depends on itself

(D) Always erroneous
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frr=iferfae 3 & B W TR B FU-oFR BawE H T A 2
(A) Goal Seek ' (B) Solver

(C) Scenario manager (D) Auto Outline

Which of the following is NOT one of Excel's what-if function?
(A) Goal Seek _ (B) Solver

(C) Scenario manager (D) Auto Outline

19 39 il o9 STRpe # TR BIgd ST ¥, 99 S e ¥ ?
(A) Hyperlinked placed in a word table

(B) Linked

(C) Embedded

(D) Use the word menu bar and toolbars

When you insert an excel file into a word document. The date are?
(A) Hyperlinked placed in a word table

(B) Linked

(C) Embedded

(D) Use the word menu bar and toolbars

frrferiRa 3 & o W SIHe™ ama wieR @1 SughT e Fiffe T8 oy
THd & 2

(A) Input cells (B) Constraints
(C) Target cells (D) Changing cells

Which of the following is an information which you can not specify
using the solver?

(A) Input cells (B) Constraints
(C) Target cells (D) Changing cells
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Yol TeRicl Igel B THgdH Hal oIl & Rifd ?
(A) It can contain text and data
(B) It can be modified

(C) It can contain many sheets including worksheets and chart
sheets '

(D) You have to work hard to create it

Fach excel file is called a workbook because?
(A) It can contain text and data
(B) It can be modified

(C) It can contain many sheets including worksheets and chart
sheets

(D) You have to work hard to create it

TRIA WA : 1 SFaY 2000 A URE B ... AT E ?
(A) Label (B) Value (C) Formula (D) Text String

Excel probably considers the cell entry January 1, 2000 to be a__
(A) Label (B) Value (C) Formula (D) Text String

3N FruHE e § fha yeR B Tl T B qhd § ?
(A) Labels, value, and formulas

(B) Labels and values but not formulas

(C) Values and formulas but not labels

(D) Formulas only
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You can enter which types of data into worksheet cells?
(A) Labels, value, and formulas

(B) Labels and values but not formulas

(C) Values and formulas but not labels

(D) Formulas only

100 @0 wrivs g ?
(A) Manipulate values (B) Manipulate labels
(C) Return a formula result (D) Use the addition operator

All work sheet formula?

(A) Manipulate values (B) Manipulate labels
(C) Return a formula result (D) Use the addition operator
10/ S U YT BTSSP U B e ?

(A) Multiply the selection by a copied value
(B) Cell comments
(B) Formatting options

(D) The resulting values of a formula instead of the actual formula

The paste special command lets you to paste?
(A) Multiply the selection by a copied value

(B) Cell comments

(B) Formatting options

(D) The resulting values of a formula instead of the actual formula
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frafaRaa 3 Q4 BN 1 TRIA H TN STET YHR TE 8 7
(A) Number (B) Character (C) Label (D) Date/Time

Which of the following is not a valid data type in excel?

(A) Number (B) Character (C) Label (D) Date/Time
TFI THINT AM.vereererererennes P UM & BH B & 7

(A) Option buttons (B) List boxes

(C) Text boxes (D) Combo boxes

Excel worksheet cells work similarly to
(A) Option buttons (B) List boxes
(C) Text boxes (D) Combo boxes

for 3 ) B9 1 e S Vs warg dfew d Rem wgi ¥ 7
(A) Page Break Preview (B) Page Orientation
(C) Margins (D) Headers and Footers

Which of the following options is not located in the page setup
dialog box?

(A) Page Break Preview (B) Page Orientation
(C) Margins (D) Headers and Footers

a1 SR SR TR YR 9I6TR O WRIRT B T B wrEd B a6
YHR D T P STAN BT A1y ?

(A) Pie chart (B) Row chart
(C) Line chart (D) Column chart
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You want to track the progress of the stock market on a daily
basis. Which type of chart should you use?

(A) Pie chart (B) Row chart
(C) Line chart (D) Column chart

HISE A AR Bt 1 SuanT by R, Wieshie § 99 A1 e B @
T T T RIY ?

(A) Press Ctrl + Home (B) Press Home
(C) Press Shift + Home (D) Press Alt + Home

Without using the mouse or the arrow keys, what is the fastest way
of getting to cell A1 in a spreadsheet?

(A) Press Ctrl + Home (B) Press Home
(C) Press Shift + Home (D) Press Alt + Home

mﬁﬁmmmwmﬁaﬁﬂmﬁaﬁmmﬁiﬁ
forg T8 foben o1 W & 7

(A) Press the Alt key (B) Clicking the formula bar
(C) Pressing the F2 key (D) Double clicking the cell

Which of the following methods can not be used to edit the
contents of a cell?

(A) Press the Alt key (B) Clicking the formula bar
(C) Pressing the F2 key (D) Double clicking the cell

aﬁmwﬁaﬁwuﬁ%mmwwﬁ%aﬁ?ﬁwwaﬂa%
T ama aroeh wfafie et ¥ <18} e Tmed ¥4 oty e ¥ 7

(A) Press the Erase key (B) Press Esc
(C) Press the Enter button (D) Press the Edit formula button
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If you begin typing an entry into cell and then realize that you don’t
want your entry placed into a cell, then what do you do?

(A) Press the Erase key (B) Press Esc
(C) Press the Enter button (D) Press the Edit formula button

HRIRAH W™ @ forg, 31y @81 v &7

(A) Click the save button on the standard toolbar from the menu
(B) Press Ctrl+F5

(C) Click save on the Windows start button

(D) Select Edit>Save

To save a workbook, what you will do?

(A) Click the save button on the standard toolbar from the menu
(B) Press Cirl+F5

(C) Click save on the Windows start button

(D) Select Edit>Save |

31 1 SO, ET1 T el Bl WUTRT B FH ¢ 7

(A) Clicking the formula button

(B) Double clicking the cell to edit it in-place

(C) Selecting Edit>Edit Cell from the menu

(D) None of the above

Youcaneditacellby_

(A) Clicking the formula button

(B) Double clicking the cell to edit it in-place
(C) Selecting Edit>Edit Cell from the menu
(D) None of the above
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SQL % @ 41 DDL $His ¥ ?
(A) UPDATE  (B) CREATE (C) DELETE (D) GRANT

Which one is a DDL command in SQL?
(A) UPDATE (B) CREATE (C) DELETE (D) GRANT

el R v qelfeiRa.. ¥ 7
(A) Design Template (B) Colour Scheme
(C) Animation Scheme (D) None of the above

Ellipse Motion is a predefined-------—--
(A) Design Template (B) Colour Scheme
(C) Animation Scheme (D) None of the above

ﬁwﬁ%aﬁﬂ?ﬁsmméaaﬁaeaﬁa%%qmwaﬁaﬁ%?
(A)CREATE  (B)INSERT  (C)SELECT (D) UPDATE

Which of the following SQL command is used to change data?
(A) CREATE  (B) INSERT (C) SELECT (D) UPDATE

ATSShINTYE TTaR uisT § siftrees S wiverd @1 ¥ ?

(A) 100% (B) 400%  (C) 300% (D) 200%

What is maximum Zoom percentage in Microsoft Power Point?
(A) 100% (B)400% (C) 300% (D) 200%
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TR WIEe D1 SUANT BN §9 TR A AIE BQ o el § 7
(A) Insert->Pictures->Chart (B) Edit->Chart
(C) Insert->Chart (D) View->Chart

How we can put a chart in the presentation using Power Point?

(A) Insert->Pictures->Chart (B) Edit->Chart

(C) Insert->Chart (D) View->Chart
—67 AR T6 .cvvrrereerenne: P IIEWI T 7

(A) Numeric variable (B) String Constant
(C) Numeric constant (D) Variable

-67 and 76 are example of

(A) Numeric variable (B) String Constant
(C) Numeric constant (D) Variable

TF YRS § TSuRie aRaf wv @ fore emd W e § P
(A) Choose Insert>>Hyperlink

(B) Press Ctrl + K

(C) Hypetlinks can’t be inserted in slides

(D) Both A and B

What will you do to insert a hyperlink in a slide?
(A) Choose Insert>>Hyperlink

(B) Press Ctri + K

(C) Hyperlinks can't be inserted in slides

(D) Both A and B
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(A) are same other than that in a list box the builets are enabled

(B) are different. List boxes are used to present lists and can’t be
created with text boxes.

(C) Both of above

(D) None of above

List Box and Text box

(A) are same other than that in a list box the bullets are enabled

(B) are different. List boxes are used to present lists and can’t be
created with text boxes.

(C) Both of above

(D} None of above

/19 string.h B e g7
(A) Derived Data type (B) function
(C) header file (D) Built-in data type
string.h is a ?
(A) Derived Data type (B) function
(C) header file (D) Buiit-in data type
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W4 1Y YR GrEe yegh 3 il ure die sifwrae @1 eigs W e §, i

FIRAE ?

(A) The object is deleted but text box and the text inside is left on
the slide

(B) The text box is deleted and the text is pasted on the slide

(C) The text box and text both are deleted

(D) None of the above

When you delete a text box object from a slide in PowerPoint
presentation, then what happens?

(A) The object is deleted but text box and the text inside is left on
the slide

(B) The text box is deleted and the text is pasted on the slide

(C) The text box and text both are deleted

(D) None of the above

(ST [ R w7

(A) instance (B) design (C) data type (D) operator

double is a/an ?

(A) instance (B) design (C) data type (D) operator

afe o ureR wrEe § T el 1S Bid B gura R o @ g ?

(A) The original file that was inserted is not changed

(B) The original file that was inserted is changed

(C) The original file is changed when you save presentation

(D) None of the above
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What happens if you edited an image inserted in PowerPoint?
(A) The original file that was inserted is not changed

(B) The original file that was inserted is changed

(C) The original file is changed when you save presentation

(D) None of the above

]23 B |1 & T Instance &1 Sarewor ¥ ?
(A) Program (B) Function  (C)ADT (D) Object

Which is one is an example of instance of class?
(A) Program (B) Function  (C) ADT (D) Object

12¢ IES T o4 F wrgs IRl B 1 yaltfa & @ Ry oy ¥ ?
(A) Slide Animation (B) Custom Animation
(C) Custom Transition (D) Slide Transition

The effect applied to display when slide changes in slide show

view is?
(A) Slide Animation (B) Custom Animation
(C) Custom Transition (D) Slide Transition
125 Raa wedie A 9o Roie o1 ST, B E ?
(A) optional (B) essential  (C) never used (D) none

The use of the break statement in a switch statement is

(A) optional (B) essential  (C) never used (D) none
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iR Wrge TN | DI 1 B WIEHT SISl o Fbdl & ?
(A) .ipg (B) .gif (C) .way (D) All of the above

Which file format can be added {o a PowerPoint show?

(A) .jpg (B) .gif (C) .way (D) All of the above
T S SETEROT BIF A1 & 7
(A) Animal to mammal (B) Variable to constant

(C) Lock to key (D) Data to program

Which is a subclass example?
(A) Animal to mammal (B) Variable to constant

(C) Lock fo key (D) Data to program

15 SR e | goR Al B Wk o= Y 9§ wRid fem Ty P
(A) A table slide (B) A bullet slide
(C) A title slide (D) All of the above

Material consisting of text and numbers is best presented as
(A) A table slide (B) A bullet slide
(C) A title slide (D) All of the above

RDBMS ¥ fre widy et il & ?
(A) Primary key (B) Row (C) Attribute (D) Table

In RDBMS which one is called relation?

(A) Primary key  (B) Row (C) Attribute (D) Table
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TS~ NYEH HReR WS & ¥ ?
(A) The title area and text area of a specific slide
(B) A slide master and title master merged into a single slide

(C) A slide master and title master for a specific design template
(D) All of above

What is the slide-title master pair?

(A) The title area and text area of a specific slide

(B) A slide master and title master merged into a single slide

(C) A slide master and title master for a specific design template
(D) All of above

R vev A Yiovws st o Seva @ ¥ ?

(A) Typically used to indicate end of message

(B) Typically used to indicate beginning of message
(C) Typically used to push the message

(D) Typically used to indicate stop the message

What is the purpose of the PSH flag in the TCP header?
(A) Typically used to indicate end of message

(B) Typically used to indicate beginning of message

(C) Typically used to push the message

(D) Typically used to indicate stop the message

Uﬁﬂ?ﬂ?ﬁﬁﬁﬂ%ﬁﬂaﬁﬁaﬁﬁmmﬁﬁaqﬁmﬁa%/%?
(A) FTP (B) TCP  (C) UDP (D) B &C
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Which of the following protocol is/are defined in Transport layer?
(A) FTP (B) TCP (C) UDP (D) B &C

133 S RT—Y DI BT I T ceverrreerereeeenaes ?
(A) Four wire pairs connect to the same pin on each end
(B) The cable which directly connects computer to computer
(C) Four wire pairs not twisted with each other

(D) The cable which is not twisted

The meaning of straight-through cable is

(A) Four wire pairs connect to the same pin on each end

(B) The cable which directly connects computer to computer
(C) Four wire pairs not twisted with each other

(D) The cable which is not twisted

]34 Vep TS P TR T E 2
(A) 16-bits (B) 32-bits (C) 48-bits (D) 64-bits

What s the size of MAC address?
(A) 16-bits (B) 32-bits (C) 48-bits (D) 64-bits

135  gerdS 0S| Hise @ T ava W B PRl ¥ 7

(A) Physical layer (B) Data link layer
(C) Network layer (D) Transport layer
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Repeater operates in which layer of the OSI model?
(A) Physical layer (B) Data link layer
(C) Network layer (D) Transport layer

Arse B 91 5 A v ova @) To—c—tT e N wE oAy ?
(A) Presentation layer (B) Network layer

(C) Session layer (D) Transport layer

Which of the following layer of OS! model also called end-to-end
layer?

(A) Presentation layer (B) Network layer

(C) Session layer (D) Transport layer

OS| Sex Wed #red o forv yva A wanferg Sar s ?
(A) Layer 1 (Physical Layer) (B) Layer 3 (Network Layer)
(C) Layer 4 (Transport Layer) (D) Layer 7 (Application Layer)

Router operates in which layer of OSI Reference Model?
(A) Layer 1 (Physical Layer) (B) Layer 3 (Network Layer)
(C) Layer 4 (Transport Layer) (D) Layer 7 (Application Layer)

(A) Asymmetric Duel Subscriber Line
(B) Asymmetric Digital System Line
(C) Asymmetric Dual System Line

(D) Asymmetric Digital Subscriber Line
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ADSL is abbreviation of ?

(A) Asymmetric Duel Subscriber Line
(B) Asymmetric Digital System Line
(C) Asymmetric Dual System Line

(D) Asymmetric Digital Subscriber Line

0S| weY Aied | fha i o § ?
(A) 4 (B)S (C)6 (D)7

How many layers does OSI| Reference model has?
(A) 4 (B) 5 (C)6 (B) 7

fast 0S| Hisa & o uva W B FEE P
(A) Application layer (B) Transport layer
(C) Network layer (D) Data link layer

Bridge works in which layer of the OS| model?
(A) Application layer (B) Transport layer
(C) Network layer (D) Data link layer

IP WEpTa B sifeaw-a o A1 e ¥ ?
(A) A packet may be lost

(B) Packets may arrive out of order

(C) Duplicate packets may be generated
(D) All of the above
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Why IP Protocol is considered as unreliable?
(A} A packet may be lost

(B) Packets may arrive out of order

(C) Duplicate packets may be generated

(D) All of the above

Heafh #1 T BraeT ¥ ?
(A) File sharing (B) Easier access to Resources
(C) Easier Backups (D) All of the above

What is the benefit of the hetworking?

(A) File sharing (B) Easier access to Resources
(C) Easier Backups (D) All of the above
frferfad 9 9 99 el Raza a8y ?

(A) Gateways (B) Linux (C) Routers (D) Firewalls

Which of the following is not the networking Devices?
(A) Gateways (B) Linux (C) Routers (D) Firewalis

IP Yebe 1 3ifirpe v 3R T ¥ ?
(A) 32 bytes (B)64 bytes  (C)30 bytes (D) 60 bytes

What os the maximum header size of an IP packet?
(A) 32 bytes (B) B4 bytes  (C)30bytes (D) 60 bytes
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visMdE FefeRaag d 9 omaradi & ?

(A) Can have subnets of different sizes
(B) Subnets must be in same size

(C) No requirement of subject

(D) All of above

Which of the following is correct in VLSM?
(A) Can have subnets of different sizes
(B) Subnets must be in same size

(C) No requirement of subject

(D) All of above

DHCP ¥dR FATEE Bl....n... TS AT 8 7

(A) Protocol (B) IP address

(C) MAC address (D) Network address
DHCP server provides___ to the client.

(A) Protocol (B) IP address

(C) MAC address (D) Network address

IPv6 Gdl T 3THTE T & 7
(A) 32 bits (B) 64 bits (C) 128 bits (D) 256 bits

What is the address size of IPv6?
(A) 32 bits (B) 64 bits (C) 128 hits (D) 256 bits
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IP 9l &1 Ben & eas ficw oiR dive e o1 R @ ¥ ?
(A) Network bits 7, Host bits 24
(B) Network bits 8, Host bits 24
(C) Network bits 7, Host bits 23
(D) Network bits 8, Host bits 23

What is the size of Network bots & Host bots of class A of |P
address?

(A) Network bits 7, Host bits 24
(B) Network bits 8, Host bits 24
(C) Network bits 7, Host bits 23
(D) Network bits 8, Host bits 23

RAID @7 gof w0 1 & ?

(A) Redundant Array of Independent Disks
(B) Redundant Array of Important Disks
(C) Random Access of Independent Disks

(D) Random Access of Important Disks

What is the full form of RAID?

(A) Redundant Array of independent Disks
(B) Redundant Array of Important Disks
(C) Random Access of Independent Disks

(D) Random Access of Important Disks
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[50 = “cafdnd gaRe S muer 9 Aaed P
(A) It means addressing a packet to all machine
(B) It means addressing a packet to some machine
(C) It means addressing a packet to a particular machine

(D) It means addressing a packet {o except a particular machine

What do you mean by broadcasting in Networking?

(A) It means addressing a packet to all machine

(B) It means addressing a packet to some machine

(C) It means addressing a packet to a particular machine

(D) It means addressing a packet to except a particular machine
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